Money


	
	Learn and revise
	

	
	
	

	These are the coins we use:
	
	

2p




50p
	
	
	
	

	There are 100 pence in £1.
	1p
	
	
5p
	10p
	
	20p

	£1 = 100p
	
	
	
	
	
	

	£2 = 200p
£1 and 50p = 150p
	
	
	
£1
	
	
£2
	



Practice activities

1. How much money is in each purse?
a) b)	c)
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2. Answer these.
a) A pencil costs 50p and you use four coins to pay for it. Which coins could you use?


b) A ball costs 80p and you have a 20p coin in your hand. You use two more coins to make the total. Which coins did you use?


c) A balloon costs 75p and you have a 10p coin in your hand. You use five more coins to make the total. Which coins did you use?


3. Make up the following amounts with the fewest number of coins.
a) 85p	 	

b)	124p	 	

c)	99p	 	
46
image6.png




image7.png
~1




image8.png




image9.png




image10.png




image11.png




image12.png




image13.png
| ()P




image14.png




image15.png




image16.png




image17.png
P Lol




image18.png
0P 20%% ¢,




image19.png




image20.png




image21.png




image22.png




image23.png




image24.png
100




image25.png




image1.png




image26.png
O Lo AP




image27.png




image28.png




image29.png




image30.png




image2.png




image3.png




image4.png




image5.png




